= A
N = 0] &F AF S & AN A
20219 = 20 B3| H =01 =X}
SN FUSKD
Mz FOIMESTAAMHA HZ2
R JIx=MNES A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZF0I =X 52,011,551 51,109,230 902,321
= 29,412,160
g 1,385,728
= 5,500,276
Al 15,713,387
FOIMET|2AAMH A HZ2 25,191,346 26,822,352 AN 1,631,006
= 17,885,924
g 1,041,598
& 2,831,660
Al 3,432,164
I=MEs8 s 18,591,158 19,012,258 A421,100
= 14,708,465
o 1,895,469
Al 1,987,224
MASH(EX) 18, 134,469 18, 144,222 AN9,753
= 14,507,575
o= 1,813,447
Al 1,813,447
301 HtE & 2 18, 134,469 18, 144,222 AN9,753
= 14,507,575
& 1,813,447
Al 1,813,447
01 Al E&E A£G 2 18, 134,469 18, 144,222 N9,753
OJI=MeE8 &3 MAHS N 18, 134,469
= 14,507,575
& 1,813,447
Al 1,813,447
MMM (EX) 151,621 119,236 32,385
= 121,297
& 15,162
Al 15,162
301 HHE A = 151,621 119,236 32,385
= 121,297
& 15,162
Al 15,162
01 Al E & A 462 151,621 119,236 32,385
OJI=MEE &3 HaEHS 151,621
= 121,297
o 15,162
Al 15,162
PSRel; EihiHl KIR(EX) 79,593 58,000 21,593
= 79,593
201 B2 A H| 79,593 58,000 21,593
= 79,593
01 AP 2t 2] H| 79,593 0 79,593
dEor=2 eiyiyl A& 79,593
= 79,593




AN =S
M FZDIMBXRAMHIA H2
el DIz MEEH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEY IZMEEEMNY(ER) 66,720 50,000 16,720
= 33,360
Al 33,360
301 LEd = 66,720 50,000 16,720
= 33,360
Al 33,360
01 Ml2ZHE 6= 66,720 50,000 16,720
O&=dg JIzda2d & 66,720
= 33,360
Al 33,360
M= I= 36,705 38,262 AN 1,5657
308 XXM SO0l A 36,705 38,262 A 1,557
08 WEII20HStE X 36,705 38,262 A 1,557
Ousz=o (XL 2¢43) 36,705
OITHEl RSHl XA(EX) 33,500 33,500 0
< 33,500
201 et 1,700 1,700 0
< 1,700
01 At 22l 1,200 1,200 0
OO0lMe s Let=ZH| 1,200
S 1,200
02 =224l 500 500 0
OBy ¢d)| SKea S 500
< 500
301 LPENF 31,800 31,800 0
< 31,800
01 MEIBEE 263 31,500 0 31,500
OMol 75 =25 7€ 31,500
< 31,500
09 HALAHIX A S 300 300 0
OMalE WEH S 300
< 300
NASIHE FHSHXNA(ES el A2 AY) 88,550 0 88,550
301 LEXS 88,550 0 88,550
01 MEIBZE 05z 88,550 0 88,550
ONMASIE FH30WH NA(ESXAXZAL)
126,500& = 100H& = 70Jt& 88,550
HAANS X2 2,602,741 2,309,722 293,019
= 819,601
s 1,041,598
< 224,010
Al 517,532
228 (BEX) 1,024,501 817,751 206,750
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X ZH -
L= B
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B
1288

ni;
N3 AMHI A WS
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=
-
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Ol nigr >4

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= Hn

819,601
81,960
122,940

= N H

1,024,501

819,601
81,960
122,940

817,751

206,750

= N H

1,024,501
1,024,501

819,601
81,960
122,940

817,751

206,750

N

AT MBMHA ETMAS(EX)

=z N

1,301,998
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130,200
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1,245,729

56,269
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e
s
M0
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=

=z N
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708
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88

884

01 At2 22l H
OXNAAS MEIA SEXAY 2SI

= M

884
884

708
88
88

884

202 Oddl

= M

1,000
800
100
100

1,000

01 2 OHI
OXS At MHI A SEXFALY O HI

= N

1,000
1,000

800
100
100

1,000

307

e
N

HOI &

=

1,300,114
1,040,090
130,012
130,012

1,243,845

56,269

1A SXAIE 2 =

OXHAE MEl A S XA

= M

1,300,114

1,300,114
1,040,090
130,012
130,012

1,243,845

56,269

Pl

T CUWOANY X2 (

H
gl

)

= i

27,400

6,850
20,550

29,400

2,000

307 21201 &

27,400

29,400

A2,000
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SN FUSKD
M MR AMEA WS
Sl HONS X (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 20,000 0 20,000
OJI2A8HI FH P2 (ML) 20,000
= 5,000
Al 15,000
S|A=X XA 399,416 385,529 13,887
= 192,024
Al 207,392
SE A2 AL QA X2 (EX) 98,568 97,692 876
= 49,284
Al 49,284
101 @124 dl 98,568 97,692 876
= 49,284
Al 49,284
03 RIAHAZZ2E = 98,568 97,692 876
OSE At ZlAb 21248l XI&(3) 98,568
= 49,284
Al 49,284
SeHArd &2l Ab el A4l XIT& 23,988 10,977 13,011
101 @124l 23,988 10,977 13,011
03 I AHA2ZZ2HE > 23,988 10,977 13,011
OSE A 22l AP =EH(3Y) 23,988
d2+g 1,920,865& *22| 3,842
d2E I3 110,000& =122 1,320
&Mz AlH| 390,000& x12& 4,680
YELNONS 3,347,010& »23| 6,695
tHera sl 40,0003 »3H « 122 1,440
IIE2Y (R X3, [HEH2, 221) 3,120
RIFEYIRLY(2ENY )
125,030 »3H 1 376
HOtE &Y 83,830& x3H 102! 2,515
NZ7 SEMdel T3 (EX) 15,000 15,000 0
= 7,500
Al 7,500
101 124 dl 6,500 6,500 0
= 3,250
Al 3,250
03 RIAHAZZ2TE = 6,500 6,500 0
SE At 2el s&E 3 6,500
= 3,250
Al 3,250
201 Let24d] 4,000 4,000 0
= 2,000
Al 2,000
01 At 22l 4,000 4,000 0
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4,500

4,500

193,200

193,200

193,200

45,540
45,540
45,540
23,120
11,500

7,500

4,000

6,620
6,620

5,000

Off &t 24

4,000
2,000
2,000
4,500
2,250
2,250
4,500
4,500
2,250
2,250
193,200
135,240
57,960
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193,200
193,200
135,240
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SN FUSKD
M FOMEXEAMHA RZ
SRl ASEXAE XS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,591,913
< 712,181
Al 543,176
FAUQAANSE 2R (EX) 2,274,162 2,117,472 156,690
= 1,591,913
< 682,249
307 glz2tol & 2,274,162 2,117,472 156,690
= 1,591,913
< 682,249
10 AL SXAIEEE2EHEX 2,274,162 2,117,472 156,690
OFURLANE 29 2,274,162
= 1,591,913
< 682,249
HUQUAL SN (E BX) 77,268 78,591 ~1,323
< 23,180
Al 54,088
307 21201 A 77,268 78,591 21,323
< 23,180
Al 54,088
10 ALSISXAIEEE2GHEX 61,200 61,200 0
OZJUQLYANE SALL EE=E 61,200
= 18,360
Al 42,840
11T M SXAISE EX 16,068 17,391 A1,323
OFAQAAML HeZz)d X 12,960
< 3,888
Al 9,072
OFURAAL Mol Aad X& 3,108
< 932
Al 2,176
ABl ST 2 X2 (EX) 25,840 25,840 0
< 6,752
Al 19,088
307 gl2tol & 25,840 25,840 0
< 6,752
Al 19,088
11T ALS S XAEE = 25,840 25,840 0
OAt2| X2 SAR SE+=E 15,840
< 4,752
Al 11,088
OAMtglsX&2 Ng9=sX2z208 X 10,000
< 2,000
Al 8,000
A2l =X2 X2 470,000 430,000 40,000
307 21201 A 470,000 430,000 40,000
05 BIZHRIE 3 470,000 430,000 40,000




2N Fo=X
%C_ Al

M =0
SRl ASEXAE XS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | OHIAMIIEXZ 2 470,000
M= 2t 724,061 734,455 A 10,394
= 573,921
Al 150,140
ANSERHE XN (BEx) 573,921 542,075 31,846
= 573,921
301 LBEXS 573,921 542,075 31,846
= 573,921
0B M ERRIABAS 573,921 542,075 31,846
OMA=ERE B+ 513,502
= 513,502
OMI=RRF I=4| 8,042
= 8,042
OMEI=223 sl 52,377
= 52,377
AN =ER& 2] 150,140 192,380 AA42,240
301 LA S 150,140 192,380 AN42,240
0B A SERREELS 150,140 192,380 A 42,240
OMII=ZERF SAH| 176,000& *70H 128 147,840
OMI=R2R M2 E 2,300
FOMEST2AME A JIBE Y 26,700 26,700 0
FU=XXA 26,700 26,700 0
201 ¢4l 20,700 20,700 0
01 At 2t 2l 20,700 20,700 0
OMSZSNLYBRY AT
230,000& x90H 20,700
203 YR =&l 3,000 3,000 0
03 A Z=XH R =AY 3,000 3,000 0
OFQ=R AI#Z=A 250,000& »12& 3,000
301 LEBA S 3,000 3,000 0
09 HALAHIXI &3 3,000 3,000 0
Ostdlolgh A & A 2 a4t 50,000& 60 3,000
Zo X5 19,045,255 17,048,979 1,996,276
= 9,289,189
< 2,235,521
Al 7,520,545
Zofel Matpe S22 sX & 13,179,212 11,530,756 1,648,456
= 7,463,319
= 1,431,180
Al 4,284,713
oo zad =20 XNS(Ex) 4,337,218 4,167,534 169,684
= 3,036,052




2N
X ZH -
L= B o
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T T/
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T MEmHo E2¢ SX 5

0l &t o
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i
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= H

390,
910,

350
816

= M W

4,337,
3,036,
390,
910,

218
052
350
816

4,167,534

169,684

= N W

4,337,

4,337,
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,350
,816

3,036
390
910

218
218

4,167,534

169,684

=z N W

476
333

85

,248
373
57,
725

150

470,711

5,537

301 LEIEN S

= MW

476
333

85

,248
373
57,
725

150

470,711

5,537

= MW
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476

333,
57,
85,

,248
,248

373
150
725

470,711

5,537

= W

374,
262,
44,
67,

376
063
925
388

367,914

6,462

301 €EtE N =

= N W

374,
262,
44,
67,

376
063
925
388

367,914

6,462

01 A28 H =62

OFM== K= (X&)

= HnH

374,

374,
262,

44,
388

67

376

376

063
925

367,914

6,462

ZoHelo =zl NE(EX)

= HnH

211
168
16
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,209
,966
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215,762

A4,553

308 MtXIEHMSOIH

= N H
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2H: FoI=XD

M HOe =2XNE5E
ol FOHOl MEMO T2 =X FA CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 168,966
< 16,897
Al 25,346
HASEOC MEH L AAH X3 (EX) 3,600 3,600 0
= 1,800
< 720
Al 1,080
301 LEMZ 3,600 3,600 0
= 1,800
< 720
Al 1,080
01 A3l EE E 56l = 3,600 3,600 0
OFoHel S=EAEHl XA 3,600
= 1,800
< 720
Al 1,080
Z0HC BEID] nR(BxX) 3,991 4,598 A 607
= 3,193
< 320
Al 478
301 LEEAZ 3,991 4,598 A 607
= 3,193
< 320
Al 478
01 Al EE E 563 3,991 4,598 A 607
O&ZOHCl EXJ(7] W= 3,991
= 3,193
< 320
Al 478
0 2 ==cldl X& 7,000 5,600 1,400
307 21201 A 7,000 5,600 1,400
11 AL SXAEE X 7,000 5,600 1,400
OFoel 27 ==cldl XA 7,000
Zopel =X X 170,560 165,560 5,000
307 glz2tol & 170,560 165,560 5,000
02 It HAHE X 46,560 46,560 0
OXNHMZOLIES AL XA 15,000
OAZZoHIHAE S AHY XI& 7,000
O=0t2l8g3al At XI& 5,560
OHMUFE23 ALY X 8,000
OF=ZHIEa ALY XA 3,000
OZBCEdZMASEsl AHY K& 8,000
03 BIZIHHEE2ZHIEX 124,000 119,000 5,000
OXHZMLEs 29 26,000




2H: FoI=XD

Hu: mojel =2XEZ
CHe|: EOjQl MEmo =29 22X SX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OA2EfIHAE S 2H 24,000
O=s0lelgs 249 25,000
OHMeELs 249 24,000
OZBEHHEES &4 24,000
O£ E3 &9 1,000
ZOHe X S§aa HY 1,247,000 100,000 1,147,000
401 Al HI L 2 THHI 1,247,000 100,000 1,147,000
01 Al& H| 1,192,511 100,000 1,092,511
OZofel i S&aa HEY BAH 1,192,511
02 22l 50,000 0 50,000
OO S &2 HE ZAF 22l 50,000
03 Al& ST 4,489 0 4,489
OZofel S Seaa HEY BA 4,489
NNEZO Q) NERNIFLAEH 29 (& BEX) 117,380 113,709 3,671
& 23,476
Al 93,904
307 QI2t0| & 117,380 113,709 3,671
= 23,476
Al 93,904
10 A SAANEEHESIGHEX 117,380 113,709 3,671
OXEEHHI X XJEEH &9 117,380
& 23,476
Al 93,904
ORI EmOAlM XRHEH 2A(E E2X) 60,821 54,874 5,947
& 16,422
Al 44,399
307 212t0| & 60,821 54,874 5,947
o= 16,422
Al 44,399
10 MASXAEEHESIHEX 60,821 54,874 5,947
OFOHC HoYAAM XNJHAHH 29 60,821
= 16,422
Al 44,399
0RO & ALK& 17,000 17,000 0
307 2iz2to| A 17,000 17,000 0
11T AISIEXAIEEX 17,000 17,000 0
OHM41a &opelel ¢ J|Estore 17,000
8 KO & AI2ZEOR EX 03 4,000 4,000 0
307 QI2t0| ™ 4,000 4,000 0
11 MBI = XA 2 X 4,000 4,000 0
ORl425] X0 & AI2AZ0hO! ZXHS 4,000
SHRAN 02 0= 10,000 10,000 0




2H: FoI=XD

Hu: ool 2N
S O MEEo £22 =X 5d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 10,000 10,000 0
11T M SRAIS EX 10,000 10,000 0
OM2z g&Al =023H = 10,000
24T @A XI& 12,200 12,200 0
301 LEPEAZ 12,200 12,200 0
09 HALAHIXI &3 12,200 12,200 0
O&= soteltisl FA2a3 40,0003 65 2,600
O&= XNHMZEHS XNEZXCHE HFABa=z
150,000& x4 H 600
OHM23sl 8= NMEOMY LU FHBLZ
150,000& x4 H 600
OANZFOjO & X0 2HEY HAPA
10,000& 30 82 2,400
O&=E ZoHe t=ds F&A24a3
50,000& »20H 1,000
O&d= JlsZdJl Ua FAEH=
20,000& x30H 600
Ogsd & M=EXS S0t X=X+ Ao
HEAELHS 150,000& +8H 1,200
Od= XNHLIHM =X L2483
40,0003 x40 2 3,200
ZONQI Rl K3 (LetsgdRiel)(Ex) 808,092 765,064 43,028
2 404,046
= 161,619
Al 242,427
307 21201 A 808,092 765,064 43,028
2 404,046
< 161,619
Al 242,427
11T A S XA E = 808,092 765,064 43,028
OFoHel ety dXtel XA 808,092
2 404,046
< 161,619
Al 242,427
ORI LRl X2 (AR L X2l ) (BX) 118,192 102,100 16,092
= 59,096
< 23,639
Al 35,457
307 glz2tol & 118,192 102,100 16,092
= 59,096
< 23,639
Al 35,457
11T M SXAISE EX 118,192 102,100 16,092
OZOHQ Al & Xtel XI& 118,192
= 59,096
< 23,639




2N

xD|EX|ﬂ|>

T T/

Hu: ool 2N
CHe|: EOjQl MEmo =29 22X SX (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| Al 35,457
Mool el XN (XY xel)(BExX) 391, 142 361,224 29,918
= 195,571
== 78,229
Al 117,342
307 2Iz2t0| A 391, 142 361,224 29,918
= 195,571
= 78,229
Al 117,342
11T AISIEXAIEEX 391, 142 361,224 29,918
O&OC SXLXel XA 391, 142
= 195,571
= 78,229
Al 117,342
ZOHQIL T K (HEHZQ QUBS A BEXLXE 499,118 491,760 7,358
JCED)
= 249,559
== 99,823
Al 149,736
307 2Iz2t0| & 499,118 491,760 7,358
= 249,559
= 99,823
Al 149,736
11T A EXAIEEX 499,118 491,760 7,358
OLE TR QLABSAI B Xte 499,118
= 249,559
= 99,823
Al 149,736
ORI K2 K& (Al ZHZHOH QI OHOLAF OFAH) (B X) 33,611 33,315 296
= 26,889
= 2,689
Al 4,033
307 2iztol & 33,611 33,315 296
= 26,889
= 2,689
Al 4,033
11T A EXAIEEX 33,611 33,315 296
OAZEZOHQI OHOFAF TIFA A 33,611
= 26,889
= 2,689
Al 4,033
ZOHe E=XY 20 N/} (BEX) 3,034,028 3,206,749 N172,721
= 2,123,820
o 364,083
Al 546,125
307 212t0| & 3,034,028 3,206,749 A172,721
= 2,123,820
o=} 364,083




2N

xD|EX|ﬂ|>

g Q‘O_ch EPNEES
CHelr MOl MEBO 29 =X ZX CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 546,125
11T MISXASEX 3,034,028 3,206,749 A172,721
OZOQ EsXAAS 3,034,028
= 2,123,820
< 364,083
Al 546,125
ool ESE2X IIMBH(EXR) 13,493 7,650 5,843
2 9,445
< 1,619
Al 2,429
307 21201 A 13,493 7,650 5,843
2 9,445
< 1,619
Al 2,429
11T MISXASEEX 13,493 7,650 5,843
O ESXAMG(HSSHML IHat=0) 13,493
= 9,445
< 1,619
Al 2,429
o 2SN & FIAXNE(E BEX) 61,660 122,427 AB0,767
< 18,498
Al 43,162
307 gl2tol & 61,660 122,427 AB0,767
< 18,498
Al 43,162
11T M ZXAIS EX 61,660 122,427 AB0,767
OoFelasia & =K 61,660
< 18,498
Al 43,162
ZoHel AtslasX&A 26,900 24,060 2,840
201 LBt 18,420 15,080 3,340
01 At 22l 10,400 8,500 1,900
OfIds &4 70,0003 x9& 103 6,300
OXHe MEFXE FIHEH =2 600
QX & Al HMEE LU= (EAM) 1,800
OZZ W ZOoHel AAIHM W=
600,000& x13] 600
OFMAXS =XEX 2
1,100& =1,0000H 1,100
02 =24l 8,020 6,580 1,440
OZel =XHE 2 s 3,820& x1,000 3,820
OFe & A4 HMEE B323
350,000& »12& 4,200
202 Oddl 4,480 4,480 0
01 = LH 4 1l 4,480 4,480 0




2H: FoI=XD

Hu: ool 2N
S O MEEo £22 =X 5d (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZOMY dEFXE FXEHE S RFA 4,480
301 LA S 4,000 4,500 A 500
01 MEIBEE 263 4,000 4,500 A 500
OAIZZHe SHeH ZFSESAMEA XEAS 2,000
ool SS=XICE 2222 N
4,000& 50004 2,000
ZOHQ THE 2 AMIEHN ME(E BX) 49,466 44,543 4,923
< 14,840
Al 34,626
301 LA F 6,753 0 6,753
= 2,026
Al 4,727
01 Ml28HE 6= 6,753 0 6,753
OFel MEeEs 6,753
< 2,026
Al 4,727
307 glz2+ol & 42,713 44,543 A1,830
< 12,814
Al 29,899
11T MISXASEX 42,713 7,830 34,883
OAZZ e Bn=s 6,713
< 2,014
Al 4,699
OZOHQ Ofstma 2 36,000
< 10,800
Al 25,200
OEEM EMHIE N (EX) 3,000 3,000 0
= 2,100
< 270
Al 630
301 LEHZ 3,000 3,000 0
= 2,100
= 270
Al 630
01 MBIEBEZE+06l= 3,000 3,000 0
OWgEMe E4&HIE X 3,000
= 2,100
= 270
Al 630
HOZEX HIRH KA (2X) 16,119 16,119 0
= 11,283
< 1,612
Al 3,224
307 21201 A 16,119 16,119 0
= 11,283
< 1,612
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oo MEmo =2 SX &

SN FH-SA(EN) - MBAY - BES

Off &t 24

3,224

A SXAIEE X

OANLE X &AL

= W

16,119

16,119
11,283
1,612
3,224

LSLETHEMHIA B2 XN (EX)

=z N H

179,207
125,445
17,921
35,841

179,207

307 glztol &

=z N H

179,207
125,445
17,921
35,841

179,207

1A SXAIE 2 =

OZHOtE MHEIZ A

= Hn

179,207

179,207
125,445
17,921
35,841

179,207

SRR FAFSMHIA X (

H
FA

)

= N H

443,685
310,579
39,932
93,174

211,429

232,256

307 21201 &

= N H

443,685

310
39

,579
,932
93,

174

211,429

232,256

M ARISXAE L
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OLEHM FAHESAHI AR

ES

= mnH

443
443

310
39

,685
,685

,579
,932
93,

174

211,429

232,256

= M

127,136

38, 141
88,995

84,300

42,836

307 glztol &

H

Al

127,136

38, 141
88,995

84,300

42,836

1A SXAIE E =
ol

OgEH M

= M

127,136
127,136

38, 141
88,995

84,300

42,836

= W

200,056

140,039
18,005
42,012

148,235

51,821

307 21201 &

200,056

148,235

51,821
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Zojel =2NEA
DAOHC MEEHO S22 SX A )
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e =2
= 140,039
< 18,005
Al 42,012
11 AISI S XA E = 200,056 148,235 51,821
Oggzaofe &us gsAHdlA X 200,056
= 140,039
< 18,005
Al 42,012
MHOE &0l ot CCTV & X XI& 33,000 15,000 18,000
401 A& BIZ 201 8I 33,000 15,000 18,000
01 Al&HI 33,000 15,000 18,000
OMIt HLZEOoHel Jt=* CcCTV & Xl
1,500,000& »22CH 33,000
RN 223 W X2 88,704 0 88,704
301 LEEXF 88,704 0 88,704
01 A EE E 563 88,704 0 88,704
OdetZeIe =g 2HIH
11,4000t =2 *5,280% 1201 & 88,704
ool =SXNAE 29X ,866,043 5,442,223 423,820
= 1,825,870
< 804,341
Al ,235,832
ZOHC XSG AE THEAME 2 (2 B2X) ,921,329 2,809,535 111,794
< 584,265
Al ,337,064
307 glz2tol & ,921,329 2,778,535 142,794
= 584,265
Al ,337,064
10 M SXNANEHE2IHE=X ,921,329 2,778,535 142,794
o =x2 29 1,727,599
< 345,519
Al 1,382,080
QFMAFAESAIE 2L (0224 SSAY) 43,710
< 8,742
Al 34,968
OZMA=AESAE 2Z(&el2ZHl) 47,277
= 9,455
Al 37,822
OFMAFTAES AL 2 (212Ad]) 574,480
< 114,896
Al 459,584
OZMAMEOSXNAEH 29 293,834
< 58,767
Al 235,067
OFe e=2+=HSAdH 29 234,429
= 46,886




2N
e =SXsN

el

X ZH
S =

=e =X

ZoH SXNAE 2EXE

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
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Al

187,543

ZOHO! FUEZAY

21,000

21,000

307 21201 &

21,000

21,000

21,000
21,000

21,000

= N

2,463,171
1,724,220
162,175
586,776

2,377,968

85,203

(o]
2
ne
e
Ho
P
oy

= 0N W

73,080
51,156

8,770
13,154

65,208

7,872

= N W

73,080

73,080
51,156

8,770
13,154

65,208

7,872

307 glztol &

= N W

2,390,091
1,673,064
143,405
573,622

2,312,760

77,331

10 A2 SXAEHE2

g
OZOML HAFAE 2 X

= M W

2,390,091
2,390,091

1,673,064
143,405
573,622

2,308,500

81,591

ZOHA=AIE BIIFEH) deg NIAG(EX)

= M W

4,681
2,808

563
1,310

4,681

307 21201 &

= W

4,681
2,808

563
1,310

4,681

A S XAIE E X

O ZUAAFAIE SINEEHI dEXH

Z W

4,681

4,681
2,808

563
1,310

4,681
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)
0
o
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o
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o
H
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P

Al

76,921

7,692
69,229

71,000

5,921
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76,921

7,692
69,229

71,000

5,921
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10 M3 SAANEEHESIGHEX 76,921 71,000 5,921
O&e 2sMEId &9 N 76,921
= 7,692
Al 69,229
OOl EXNAE SAN EELH(E EX) 170,580 162,720 7,860
= 51,174
Al 119,406
307 QI2t0| ™ 170,580 162,720 7,860
= 51,174
Al 119,406
10 A SXNANEEHESIHEX 170,580 162,720 7,860
OFHMAUASAIANE SAIAN EE€E 170,580
& 51,174
Al 119,406
SO F2AESAIE SALAF 212HHl FOIKE 67,158 0 67,158
307 212t0| & 67,158 0 67,158
10 M SXANEEHESIHEX 67,158 0 67,158
OHMAUAFAESAIE SAA 2 2AHH F=OHX& 67,158
O HZT=AIE MESXNECSR DO & 141,203 0 141,203
= 98,842
& 8,472
Al 33,889
307 2iz2tol A 141,203 0 141,203
= 98,842
& 8,472
Al 33,889
10 MM SAANEEHESIGHEX 141,203 0 141,203
OHMAHFTAE MEXNCH DHE XA 141,203
= 98,842
o 8,472
Al 33,889
SANUHAXN S AMEIA M2 26,520 26,520 0
S A X S& XA 26,520 26,520 0
SR A S8 XA 16,520 16,520 0
201 LBt Y| 9,500 9,500 0
01 AP 22| d| 3,360 3,360 0
OFo=N4SY 29 2B
280,000& x12& 3,360
02 Z2=2=24%4| 6,140 6, 140 0
OSE XA XS XY 4,140
S Sl 220,000 x12& 2,640
HEH| 500
SANEMH (AT DE S) 1,000
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el SXNUHAX SEEZA (&)
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H=0I2 el STEALAE 2 2,000
202 044l 7,020 7,020 0
01 = LH 4 1l 7,020 7,020 0
O=SXANEIA MEX SEXZAL RFH 7,020
‘=325 REM XY 10,000 10,000 0
301 LA F 10,000 10,000 0
01 AR 2Z A5 3 10,000 10,000 0
O+2X 2252 BIIS NOAN 23 +48
K2 (AI24) 20,000& x500H 10,000
Has=0 kg ogtxd 3,473,228 3,426,113 47,115
= 2,232,831
= 344,130
< 233,493
Al 662,774
MASS MEXFIA 3,473,228 3,426,113 47,115
= 2,232,831
s 344,130
< 233,493
Al 662,774
ez (Bx) 2,312,920 2,226,526 86,394
= 1,850,336
< 185,034
Al 277,550
201 Let2d] 7,000 7,000 0
= 5,600
< 560
Al 840
01 At 22l 7,000 7,000 0
OXE22AMY 234l 7,000
= 5,600
< 560
Al 840
202 O4dl 5,000 5,000 0
= 4,000
< 400
Al 600
01 = LH 4 4l 5,000 5,000 0
OX&2Z ALY bl 5,000
= 4,000
< 400
Al 600
206 M= Hl 8,000 8,000 0
= 6,400
< 640
Al 960
01 M2 4l 8,000 8,000 0
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6,400
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960

301 LEIEN =

= MW

406,526
325,876
31,460
49,190

406,526

= M W

406,526
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325,876
31,460
49,190

406,526

307 21201 &

= M W

,886,394
,508,460

161,974
225,960

1,800,000

86,394

e

11 A2l = XAt
OXt&Z 2 A

=z N H

,886,394
,886,394
,508,460

151,974
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OXNSTEHEH SN SE=Y 9,360
< 2,808
Al 6,552
NEAXNEE MIMEIA EXAIG (BE)(ME)(IFARZE 430,162 430, 162 0
HYESAJAY)
s 344,130
< 43,016
Al 43,016
307 gl2tol & 430,162 430, 162 0
s 344,130
< 43,016
Al 43,016
11T M SRAISE EX 430,162 430, 162 0
OJtArztE &2 2ZtelAb XI& ALY 430,162
s 344,130
< 43,016
Al 43,016
Z2EsHJ=+sMHAESSNA(SYINSEF)(EX 69,732 86,931 17,199
)
= 55,786
Al 13,946
307 gl2tol & 69,732 86,931 A17,199
= 55,786
Al 13,946
11T M 2XAISE EX 69,732 86,931 A17,199
OslYII8SE 2245 ez NH 69,732
= 55,786
Al 13,946
Z2EsHJ=ss MY NA(HLIISESE) (B 14,745 9,476 5,269
)
= 11,796
Al 2,949
307 gl2tol & 14,745 9,476 5,269
= 11,796
Al 2,949
11 ALS S XAEE = 14,745 9,476 5,269
OUgIIsEE 2245 Had3 N2 14,745
= 11,796
Al 2,949
CE2sEUA=+SNHAESSNA(FESLIINSEE)( 109,516 261,824 A 152,308
HX)
= 87,613
Al 21,903
307 21201 A 109,516 261,824 A 152,308
= 87,613
Al 21,903
11T ALS S XAEE = 109,516 261,824 A 152,308
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OFUHZUISEE 224AS Hd2 N 109,516
= 87,613
Al 21,903
22SEJUY=LB NS LS XNA(BEAMESHI)N(BEER 80,465 23,400 57,065
)
2 64,372
Al 16,093
307 2Iz2t0| & 80,465 23,400 57,065
= 64,372
Al 16,093
11 A EXAIEEX 80,465 23,400 57,065
OFEM=ANE 2240 T2 80,465
= 64,372
Al 16,093
AHE ofsstote A 4,000 4,000 0
301 et A =2 4,000 4,000 0
09 SHAIAHI X &2 4,000 4,000 0
02020 Xt Ss0tYe 24843
20,000& 100" =23 4,000
2I2tY '2(N)EY ' MAHIA X 196,000 33,600 162,400
301 et A= 196,000 33,600 162,400
01 Al E & A 462 196,000 33,600 162,400
ORz22t8 '2(N)S L' AHIA X3 (AIH)
70,000 x 14 x200H 196,000
TP HAASA X 18,278 0 18,278
101 @121 H| 18,278 0 18,278
04 JI2ZtHIZ22NEES 18,278 0 18,278
OXNE XA 2 ASA 18,278
PiR=E=1 69,760& 209 14,580
SIELULY(FR) 69,760 43! 3,000
o D82 Al 69,760& 10 698
=)} E& 2e| & X 1,762,304 1,335,579 426,725
= 180,000
Al 1,582,304
85 X& 1,762,304 1,335,579 426,725
= 180,000
Al 1,582,304
B X& 132,670 182,870 A 50,200
307 2I2t0| & 127,670 182,870 A bB5,200
02 QIZ2IA AAIE E X 60,270 113,870 A 53,600
OX==Z2Z0IY03 B=AtH 4,000
OFs2ERZE3 E2AY 4,000
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206 M= Hl 300 300 0
01 M= 4l 300 300 0
OZ¥ 8%4 HIABE L FALEE 7¢
25,000& 123 300
Mal=X 22 Jletxd 497,109 539,791 AN42,682
= 4,216
< 19,602
Al 473,291
Mol =EXEea X3 153,185 134,855 18,330
< 18,037
Al 135,148
ABIZXE 23 K& 63,000 46,000 17,000
307 21201 A 63,000 46,000 17,000
02 B AAHEX 20,000 20,000 0
OMSI=XEAS ALY X2 (M=K & DI
gAal g gg) 20,000
03 QIZtHNHE2HHEX 43,000 26,000 17,000
OAMal=XIEg2s 29 XA 43,000
ASISIMEEHMEHASE(E BEX) 90,185 88,855 1,330
< 18,037
Al 72,148
307 gl2tol & 90,185 88,855 1,330
< 18,037
Al 72,148
11T M SXASE EX 90,185 88,855 1,330
OA=ERNYESHH 2 90,185
< 18,037
Al 72,148
NAA2ZEAN XA 91,700 79,500 12,200
< 300
Al 91,400
NEASEEEAN 294 90,700 79,500 11,200
201 Let24E] 20,000 20,000 0
01 At 22l 20,000 20,000 0
OSHE NIBFEAM V5 Hasg
20,000 *200H *53] 20,000
202 o4dl 500 500 0
01 = LH o4 Hi 500 500 0
OAtgIEX2d 238 4 500
307 21201 A 59,000 59,000 0
10 ALSISXAIEEER2IHEX 43,000 43,000 0
OE2A NEMIAEHEANM 22 XN& 43,000
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07 IXNSHH AR S = 11,200 0 11,200
OX YA EEZAHAIEIEES) 11,200
NEASEHEAM L5 XN (EX) 1,000 0 1,000
< 300
Al 700
201 Let249H] 1,000 0 1,000
< 300
Al 700
01 At 22l 1,000 0 1,000
OXNZGAS2EHEAM /¥ WK 1,000
< 300
Al 700
QI2t AFSIZSRIAL 2 23t 84,224 91,704 AT,480
QIZt At2 S XA S 2e K& 84,224 91,704 AT,480
301 LEdZ 60,000 70,000 A 10,000
01 A3l EE E =56l = 60,000 70,000 A 10,000
OMSIEXIAE BAX 'E==E' N&
100,000& 600 60,000
307 gl2tol & 24,224 21,704 2,520
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= 4,216
< 1,265
Al 162,519
M4 IR Z22NSES 168,000 75,492 92,508
O3l L RelAE EHA B 168,000
= 4,216
< 1,265
Al 162,519
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